
CSci 2033 Practice Exercises Set #10 March 7, 2018

1 Answer and give a short proof:

(a) If the columns of B ∈ Rn×p are linearly
dependent then so are the columns of AB (for
any A ∈ Rm×n). (T/F)

(b) If the columns of B ∈ Rn×p are linearly
independent then so are the columns of AB
(for any A ∈ Rm×n). (T/F)

(c) If the columns of B ∈ Rn×p and those of
A ∈ Rm×n are linearly independent then so
are the columns of AB. (T/F)

(d) IfA,B are both invertible matrices thenA+B
is also invertible. (T/F)

(e) If A,B are not invertible matrices then A+B
cannot be invertible. (T/F)



(f) If A and B are invertible then so is AB−1.
(T/F) If true what is the inverse of AB−1?

(g) If A and B are invertible then so is ATB.
(T/F) If true what is the inverse of ATB?

2 Calculate the inverse
of the matrix shown on
the right

A =

 2 2 −4
−1 0 2
1 3 −1


3 Find the LU factorization of the matrix A of
Question 2.
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